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Provided that it was established - IR NV

Overview

727 reconciled a contradiction between two niwn, saying that the 7i1wn which
permits returning a v} even 7211 17 is where there are no Mm"¥» n17»w, and the
mwn which forbids it, is in a place where there are nmmx»n mM7»w. The X3 qualifies
this answer of 7127, that even n¥» M9»wa one may return the v even 721N 117,
unless it is established that there are two couples with the same names. n19010
explores and clarifies this qualification

n1voIN asks:
= 192N XD 1PN25N0) NN MIPVUNIY STINR) YTIN P11 XY INHIN NN

It is astounding! Why does not 7721 establish that this 71wn (which prohibits 7219
72171) and our mwn (which permits it) are both discussing a case where ny»w

nMxn, however our mawn is where it is JWAW 12 70 1w WP KD, therefore it is
permitted even 12171 117, and the other mwn is where it is Y211, therefore it is 1% 215 MOK
a2 —

mooIn responds to an anticipated answer:?
= 9912 599917 417 5’2 NYYN DT 3NDYDT NIIIT 1N NHVWNT

For now if we will establish our 71wn by (W11 891) nmMxn M»w our R will be

similar to the X970 of 71°117> 7'">2 wwn Y5, which is also discussing a case of m 1w
nmxn.

NID0IN answers:
= N2 M1 NI 297 NI 223 HNT TINIUAT XTIIWT 9919 VN

And one can say; that the incident mentioned shortly with 727, which took place

in the 7''52 of K137 29, happened first, before 721 reconciled the nrawn -
= D8N MY ITAN N IPININ NYAT 13I9MNYN)

! The question is on the 13 which assumes that 7127 prohibits returning a 7217 1212 03 in a MMEA MAWAY DpR, only
if it is yp1m7; implying that if 1M XY it may be returned 72177 117 even n1xn M»waw pna. If indeed this is true
why did not 727 reconcile both n11wn in cases where nmx»n M and it depends on whether it is 21 (where we do
not return) or WM X2 (where we do return).
2 Perhaps 1121 preferred to say that our 7Iw» is in a case of N™M¥» MA»w X and therefore we can return it even jar>
721, even if YRY 12 A0 1w pIMT; perhaps that is a bigger w1 T°n, than i R DMEn Mw!
3 This is the 73wn on X,5 which is cited on 2,7, where the X713 asserts that it is a N?1¥n MA»WAw opn.
4 It may be questionable in which case is the bigger w17°1 that 721 1212 911; whether it is by WImm MXn MW PR,
or by W1 R NMEn MW, so the fact that (PIMIT R?Y) NvI¥n MW is X9 07 X'M17, making the entire 73wn in one case,
this should be persuasive enough to establish the X273 by n1mx»n m»w. (See footnote # 6.)
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So there 7127 informed us® that if it is Y2177 X® we return it even if NM3% N -
= NN MY PR AN 9N 223 IPTNIN DONRT 1IPWINYN NI

And here 7727 taught us that even if it is Y2377 we return it if n9IXR N PR.

n1voIN asks:
=993 SPYNY 12 GO 23Y WY 119D NYNRD TN RNYVD INMI 9NN ON)

And if you will say; but what is the reason that it is returned to the woman (if

NM¥A” MM PR as 127 explained), but since there are two Py»w 32 oY in the city,
why are we not concerned that this v3 may belong to the other 11vnw 32 701?

NID0IN answers:
= 429N ANNN DIY WINY PPN JND V) TaN ATY DIYTY7 IINY 1923 91910 W

And one can say; since we know that this w"2> lost a 3 here, there is no concern
that the other "2 also lost a v3 here -

= PIINN MY PRY 1D
Since it is NY%IXR NYW PNR; the probability is infinitesimally small to be considered.

nvoIN continues (on a tangential issue):’
= 89TYON 9295 NINN PNYNY)

And our X923 is valid (only) according to X''9 (who maintains >n13 77°01 >7v) -
- W5 VXN PN IPYNY 12 GO 2IY IPITMAVY 113 NN Y2994

For according to %' (who maintains >n72 72°n1 *7Y), since two @''2° were 2117,

the v3 is not "> -
= (3,79 971V VIN 55 799 NIMT N S NIV 10999199 NI NIIY 1Y

Unless it is evident from the v3 itself that it is this "2 who is divorcing his wife
and not the other, as is evident in w7 %> p=5 -

3 721 already taught us previously in the case of the v3 which was found in the 72 of 7" that if P17 8, so even if
it is N1¥N MW we return it (even 712171 1a17); therefore when it came to the contradiction of the two nviwn, he wanted
to teach us another ruling that if N1 M2»w PR the rule is 71 even if P17 (but in truth our 71wn of 11011 11N AR is
also valid in a case of 1M R NMEH MW).
¢ It would seem from M0N0 question (on the case of 1) that the W1T°n of 711> by PIMTI MM MW PR is greater
that the wy7°n of 1> by WM R2Y nmxn MA»w (since Moo is not bothered by the latter only by the former). See
footnote # 2 & 4.
7 See (however) ‘Thinking it over’.
8 For a v3 to be effective, there needs to be two witnesses who testify that the v was transferred from the man to the
wife. X"1 maintains that the 0>7v who witness the transfer of the 03, make the v) effective; while n"9 maintains that the
2>7v who sign on the v make the divorce effective. According to »"1 if there are no 72°nr >7v, even if there are 7y
77°on, the v3 is not valid. (There is a dispute what &"1 would maintain if there are no 77207 79, only f°nn *7v.)
° We have already established that our 71wn is in a case where (n11%2 M7 X and) w"2° 3w 1M (see footnote # 5).
19 The 77°0m »7v can testify which w"2° divorced his wife. The testimony of the m»>nn >7v is in the vA. In the v3 it is not
evident which w"2* is divorcing his wife. This makes their testimony invalid as n199In continues to prove.
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- WY SN NI NN PO NIVPN NN I WA RY 1A% NN WY ana a4
Where the 1w states; ‘he wrote a v with the intention to divorce the older wife,
he cannot divorce the younger wife with this ©v3’. The X713 infers from this 71w,

‘however the older wife he can divorce with this v3, even though we cannot know from

the v3, which wife he is divorcing, since they have the same name. The X1 concludes -
= 11901 »1¥3) XN ITYHN 229

It is according to X''9 and there were 2"'Y, therefore it is a valid v -
= Y9 2819 KD DD 199N 9NN 22997 ynvn

This indicates that according to 2'9 he cannot divorce even the older one with
this v3, since it is not 1211 197, who he is divorcing. Similarly here by two w"2°, neither can
divorce their wives according to n"9 since it is not 1212 1. 12

Moo responds to an anticipated difficulty:
- 189581 52495 217929 1392991V 1V PV IV (3,30 97 ow) YIININT XN

And regarding that 71wn in w9an7 P79 of two similar Pws, which became mixed

up, ctc. and the X3 established that 71wn according to 2''9. Nevertheless there is no
difficulty, for there -
1[92 INNNN NPT 2,75 PV MODIN Ny 1] 1NN NI4T 5SDIVYIVNI Y991

We are discussing where the names on the v were ‘tripled’ (one v3 read 72 70
2Py’ 12 wnw, and the other read prx® 12 WAW 12 70Y) so it is 1210 IvA!

Summary
A 13 cannot be delivered 72171 112 if two conditions are met, N¥2 MW and P,

727 taught first one rule by 1" (21mM17), and the other (MMx»n MA»w) by our mwn.
According to n"1 the way two "2’ can divorce their wives is if it is DW2wn.

' The man had two wives and wished initially to divorce the older wife and wrote the 3, but then he reconsidered
and wants to divorce his younger wife (who has the same name as his older wife) with this 3.
12 See later in nooIn (footnote # 15) how this can be resolved.
13 The case there was where two couples with the same names sent their 7°0°3 to their respective wives (with ’m>w)
and they became mixed up, so we do not know which v3 is from whom and for whom. The 71wn there rules that we
give both 103 to both wives, so in any event each wife received her proper 3.
14 The X7n3 there comments that this 71wn cannot be following the rule of X" (that *n73 n"v), for the 2"y do not know
by each individual transfer that this is the proper vi. Therefore the mwn must be according to »" (the X3 does not
say so explicitly [see >"wA there 877 7"'7]). The question is how can it follow the view of n"9, since "1 requires that it
be 121 121 and here it is not 1217 1211 since the same names are on both "3, and as M»doIN states here explicitly
that if there are two ¥"2’ the v is not valid according to »'"!
15 When the P were delivered, the people who accepted the P> were not sure which w"2> had a grandfather 2Py
and which had a grandfather pr¥>. Therefore according to X" that *n1> n"y, the n"y have no idea which v3 goes to
which wife; however according to »"2 (who maintains *n73 11"'v) the 1"y know for whom they wrote each v3, and we
can find out (based on the v3), which one belongs to 2p¥ 12 w"2* and which to prix® 12 w"2, s0 it is 12107 1A,
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Thinking it over
Can we find an association between m901n last question (concerning 1"y n"v)!® and
that which m»oIn mentioned previously?!’

16 See footnote # 7.
17.See mian nnan.
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